The board of Fashions Unlimited has to choose between two models of plant. Current production with the existing plant is of very poor quality. 

	Plants
	Existing
	Model I
	Model II

	Additional Investment
	£0
	£5,000
	£12,000

	Variable Unit Costs
	£5
	£4
	£3


Further relevant details available are:

i. Existing demand 2,000 units. 

ii. Selling price £16.

iii. Annual demand for the product with the improved quality could rise to 5,000 units; capable of being satisfied with Models I or II, but not with the existing plant.

iv. Estimated economic life of the product is 3 years, at the end of which the plants will have no salvage value.

v. Capital allowances available are only in the form of an annual allowance of 20% p.a. straight line.

vi. Effective rate of corporation tax is estimated at 40%, with one year lag in cash payment for tax.

vii. Appropriate cost of capital is 8%.

viii. The board expects no inflation.

ix. All capital allowances on the existing machine have already been used.

a. Stating any assumptions you need to make, assist Fashions Unlimited in their investment decision.

b. How does your recommendation depend on annual demand? 

